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Question 1:  Evaluate ∫
(𝑥−1)

(𝑥+1)3  𝑒𝑥 𝑑𝑥 

 
Solution:  

 
 

Question 2:  Evaluate ∫
𝑒𝑥(1+sin 𝑥)

(1+cos 𝑥)3   𝑑𝑥 = ex f(x) + c, then find f(x). 

 
Solution:  

 
 
Question 3:  Evaluate ∫ 𝑥 sin2 𝑥   𝑑𝑥 
 
Solution:  
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Question 4:  Evaluate ∫ 𝑥2 𝑠𝑖𝑛 2𝑥   𝑑𝑥 
 
Solution:  

 
 
Question 5:  Evaluate ∫ 𝑒𝑥 𝑠𝑖𝑛 𝑥   𝑑𝑥 
 
Solution:  

 
 
 

Question 6:  Evaluate ∫ cos √𝑥   𝑑𝑥 
 
Solution:  

Put √𝑥 = 𝑡 =>
1

2√𝑥
 𝑑𝑥 = 𝑑𝑡 => 𝑑𝑥 = 2𝑡 𝑑𝑡 
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𝑃𝑢𝑡𝑡𝑖𝑛𝑔 sin−1 𝑥 = 𝑡 =>  
1 

√1 − 𝑥2
 𝑑𝑥 = 𝑑𝑡 

 

Question 7: Simplify ∫
𝑥 sin−1 𝑥  

√1−𝑥2
 𝑑𝑥 

 
Solution:  

 
 

Question 8: Evaluate ∫
𝑑𝑥

sin 𝑥+cos 𝑥
  

 
Solution:  

 
 

Question 9: Evaluate ∫ √𝑥2 + 𝑎2  𝑑𝑥  
 
Solution:  
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Question 10: Evaluate ∫
(𝑥+1)2

𝑥(𝑥2+1)
 𝑑𝑥  

 
Solution:  
 

 
 

Question 11: Find the value of A and B if ∫
sin 𝑥

sin (𝑥− 𝛼)
 𝑑𝑥 = 𝐴𝑥 + 𝐵 log sin(𝑥 −  𝛼) + 𝐶 

Choose the right option: 
(a) (sin α, cos α)                    (b) (cos α, sin α) 
 
(c) (- sinα, cosα)                   (d) (-cosα, sinα) 
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Solution: Correct option is (b) 
 
Explanation: 
 
Let x – α = m 
 

∫
sin(𝛼 + 𝑚)

sin 𝑚
 𝑑𝑚 = sin 𝛼 ∫ cot 𝑚 𝑑𝑚 + cos 𝛼 ∫ 𝑑𝑚 

 
= cos α(x – α) + sin α ln|sin m| + c 
 
Therefore, on comparing we have 
 
A = cos α and B = sin α 
 

Question 12: Solve ∫( 
(log 𝑥−1)

1+(log 𝑥)2 )^2   𝑑𝑥  

 
Solution:  

 
 
Put log x = t so dx = et dt 
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Question 13: Find the value of  

 
 
Solution: 
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